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I. TACHES

A. PRIORITES <>

/***************************************************************************

        EXERCICE 1 TACHES PRIORITES <>

**************************************************************************/

#include "cmpnents.h"

#include "vrtxil.h"

#define  TERMINATE   "\n\nDemonstration was terminated\n"

void user_main()

{

   void  task11(),  task12(),  task13(),  task14(),  task15();

   int   err;

   char c;

   int actif[2]={1,1}; /* taches creee actives */

   err =0;

   sc_tcreate(task11,1,4,&err);

   sc_tcreate(task12,2,10,&err);

   for(;;)

   {  c = sc_getc();

      switch(c)

      {

        case '1' :

        case '0' :

           c = c - '0';

           if(actif[c])

                sc_tsuspend(c+1,0,&err);

           else

                sc_tresume(c+1,0,&err);

           break;

      }

      if(c==0x1b)

        break;

  }

   sc_tdelete(1,0,&err);     /* deletes the first task */

   sc_tdelete(2,0,&err);     /* deletes the second task */

   dsp_dos_return(0) ;

}

/*************************************************************************/

/* task11                                                                */

/*************************************************************************/

void task11()

{

   int   c;

   long time;

   for(;;)

   {   for(c='0';c<='9';c++)

       {   sc_putc(c) ;

           time = sc_gtime();

           while (sc_gtime()==time)

                 ;

       }

       sc_delay(2);

   }

}

/*************************************************************************/

/* task12                                                                */

/*************************************************************************/

void task12()

{

   int   c;

   long time;

   for(;;)

   {   for(c='A';c<='I';c++)

       {   sc_putc(c) ;

           time = sc_gtime();

           while (sc_gtime()==time)

                 ;

       }

       sc_delay(2);

   }

}

PRIORITES <> avec SUSPEND/RESUME

/***************************************************************************

        EXERCICE 1

**************************************************************************/

#include "cmpnents.h"

#include "vrtxil.h"

#define  TERMINATE   "\n\nDemonstration was terminated\n"

void user_main()

{

   void  task11(),  task12(),  task13(),  task14(),  task15();

   int   err;

   char c;

   int actif[2]={1,1}; /* taches creee actives */

   err =0;

   sc_tcreate(task11,1,4,&err);

   sc_tcreate(task12,2,10,&err);

   for(;;)

   {  c = sc_getc();

      switch(c)

      {

        case '1' :

        case '0' :

           c = c - '0';

           if(actif[c])

                sc_tsuspend(c+1,0,&err);

           else

                sc_tresume(c+1,0,&err);

           break;

      }

      if(c==0x1b)

        break;

  }

   sc_tdelete(1,0,&err);     /* deletes the first task */

   sc_tdelete(2,0,&err);     /* deletes the second task */

   dsp_dos_return(0) ;

}

/*************************************************************************/

/* task11                                                                */

/*************************************************************************/

void task11()

{

   int   c;

   long time;

   for(;;)

   {   for(c='0';c<='9';c++)

       {   sc_putc(c) ;

           time = sc_gtime();

           while (sc_gtime()==time)

                 ;

       }

       sc_delay(2);

   }

}

/*************************************************************************/

/* task12                                                                */

/*************************************************************************/

void task12()

{

   int   c;

   long time;

   for(;;)

   {   

       sc_lock();

       for(c='A';c<='I';c++)

       {   sc_putc(c) ;

           time = sc_gtime();

           while (sc_gtime()==time)

                 ;

       }

       sc_unlock();

       sc_delay(2);

   }

}

PRIORITES = avec slice

/***************************************************************************

        EXERCICE 1

**************************************************************************/

#include "cmpnents.h"

#include "vrtxil.h"

#define  TERMINATE   "\n\nDemonstration was terminated\n"

void user_main()

{

   void  task11(),  task12(),  task13(),  task14(),  task15();

   int   err;

   char c;

   int actif[2]={1,1}; /* taches creee actives */

   err =0;

   sc_tcreate(task11,1,10,&err);

   sc_tcreate(task12,2,10,&err);

   sc_tslice(4);

   for(;;)

   {  c = sc_getc();

      switch(c)

      {

        case '1' :

        case '0' :

           c = c - '0';

           if(actif[c])

                sc_tsuspend(c+1,0,&err);

           else

                sc_tresume(c+1,0,&err);

           break;

      }

      if(c==0x1b)

        break;

  }

   sc_tdelete(1,0,&err);     /* deletes the first task */

   sc_tdelete(2,0,&err);     /* deletes the second task */

   dsp_dos_return(0) ;

}

/*************************************************************************/

/* task11                                                                */

/*************************************************************************/

void task11()

{

   int   c;

   long time;

   for(;;)

   {   for(c='0';c<='9';c++)

       {   sc_putc(c) ;

           time = sc_gtime();

           while (sc_gtime()==time)

                 ;

       }

       sc_delay(2);

   }

}

/*************************************************************************/

/* task12                                                                */

/*************************************************************************/

void task12()

{

   int   c;

   long time;

   for(;;)

   {   

       for(c='A';c<='I';c++)

       {   sc_putc(c) ;

           time = sc_gtime();

           while (sc_gtime()==time)

                 ;

       }

       sc_delay(2);

   }

}

PRIORITE = sans SLICE

/***************************************************************************

        EXERCICE 1

**************************************************************************/

#include "cmpnents.h"

#include "vrtxil.h"

#define  TERMINATE   "\n\nDemonstration was terminated\n"

void user_main()

{

   void  task11(),  task12(),  task13(),  task14(),  task15();

   int   err;

   char c;

   int actif[2]={1,1}; /* taches creee actives */

   err =0;

   sc_tcreate(task11,1,10,&err);

   sc_tcreate(task12,2,10,&err);

   sc_tslice(0);

   for(;;)

   {  c = sc_getc();

      switch(c)

      {

        case '1' :

        case '0' :

           c = c - '0';

           if(actif[c])

                sc_tsuspend(c+1,0,&err);

           else

                sc_tresume(c+1,0,&err);

           break;

      }

      if(c==0x1b)

        break;

  }

   sc_tdelete(1,0,&err);     /* deletes the first task */

   sc_tdelete(2,0,&err);     /* deletes the second task */

   dsp_dos_return(0) ;

}

/*************************************************************************/

/* task11        - Prints '1' forever.                                   */

/*************************************************************************/

void task11()

{

   int   c;

   long time;

   for(;;)

   {   for(c='0';c<='9';c++)

       {   sc_putc(c) ;

           time = sc_gtime();

           while (sc_gtime()==time)

                 ;

       }

       sc_delay(2);

   }

}

/*************************************************************************/

/* task12        - Prints '2' forever.                                   */

/*************************************************************************/

void task12()

{

   int   c;

   long time;

   for(;;)

   {   

       for(c='A';c<='I';c++)

       {   sc_putc(c) ;

           time = sc_gtime();

           while (sc_gtime()==time)

                 ;

       }

       sc_delay(2);

   }

}

MAILBOX

/***************************************************************************

        EXERCICE 1

**************************************************************************/

#include "cmpnents.h"

#include "vrtxil.h"

#define  TERMINATE   "\n\nDemonstration was terminated\n"

long *mailbox=0;

void user_main()

{

   void  task11(),  task12(),  task13(),  task14(),  task15();

   int   err;

   char c;

   err =0;

   sc_tcreate(task11,1,4,&err);

   for(;;)

   {  c = sc_getc();

      sc_post(&mailbox,(long *)c,&err);

      if(c==0x1b)

        break;

  }

   sc_tdelete(1,0,&err);     /* deletes the first task */

   dsp_dos_return(0) ;

}

/*************************************************************************/

/* task11                                                                */

/*************************************************************************/

void task11()

{

   int   c;

   int err;

   for(;;)

   {   

        c = (char)sc_pend(&mailbox,0,&err);

        sc_putc(c);

        sc_delay(20);

   }

}

FILE

/***************************************************************************

        EXERCICE 1

**************************************************************************/

#include "cmpnents.h"

#include "vrtxil.h"

#define  TERMINATE   "\n\nDemonstration was terminated\n"

int qid=2;

void user_main()

{

   void  task11(),  task12(),  task13(),  task14(),  task15();

   int   err;

   char c;

   err =0;

   sc_tcreate(task11,1,4,&err);

   sc_qcreate(qid,5,&err);

   for(;;)

   {  c = sc_getc();

      sc_qpost(qid,(long *)c,&err);

      if(err)

        sc_qjam(qid,(long *)'!',&err);

      if(c==0x1b)

        break;

  }

   sc_tdelete(1,0,&err);     /* deletes the first task */

   dsp_dos_return(0) ;

}

/*************************************************************************/

/* task11                                                                */

/*************************************************************************/

void task11()

{

   int   c;

   int err;

   for(;;)

   {   

        c = (char)sc_qpend(qid,0,&err);

        sc_putc(c);

        sc_delay(20);

   }

}

FLAG

/***************************************************************************

        EXERCICE 1

**************************************************************************/

#include "cmpnents.h"

#include "vrtxil.h"

#define  TERMINATE   "\n\nDemonstration was terminated\n"

int gid;

#define OR 0

#define AND 1

void user_main()

{

   void  task11(),  task12(),  task13(),  task14(),  task15();

   int   err;

   long c,c1,c2;

   err =0;

   sc_tcreate(task11,1,4,&err);

   sc_tcreate(task12,2,5,&err);

   gid = sc_fcreate(&err);

   for(;;)

   {  c1 = sc_getc();

      c2 = sc_getc();

      c = (c1-'0')*10+c2-'0';

      sc_fpost(gid,c,&err);

      if((c1==0x1b)||(c2==0x1b))  

        break;

   }

   sc_tdelete(1,0,&err);     /* deletes the first task */

   sc_tdelete(2,0,&err);     /* deletes the first task */

   dsp_dos_return(0) ;

}

/*************************************************************************/

/* task11                                                                */

/*************************************************************************/

void task11()

{

   int   c;

   int err;

   for(;;)

   {   

        sc_fpend(gid,0,24,AND,&err);

        sc_fclear(gid,24,&err);

        sc_putc('8');

   }

}

/*************************************************************************/

/* task12                                                                */

/*************************************************************************/

void task12()

{

   int   c;

   int err;

   for(;;)

   {   

        sc_fpend(gid,0, 6,OR ,&err);

        sc_fclear(gid, 6,&err);

        sc_putc('6');

   }

}

EEPROM

B. SANS SEMAPHORE avec FILE

/***************************************************************************

        EXERCICE 1

**************************************************************************/

#include "cmpnents.h"

#include "vrtxil.h"

#define  TERMINATE   "\n\nDemonstration was terminated\n"

#define LN_EEPROM 16

long eeprom[LN_EEPROM][2];

int sid;

int qid=2;

#define NOSEMA

void ecreeprom(int ad,long m1, long m2)

{

#ifdef SEMA

        int err;

        sc_spend(sid,0,&err);

#endif

        eeprom[ad][0] = m1;

        eeprom[ad][1] = m2;

#ifdef SEMA

        sc_spost(sid,&err);

#endif

}

void leceeprom(int ad,long *m1, long *m2)

{

#ifdef SEMA

        int err;

        sc_spend(sid,0,&err);

#endif

        *m1 = eeprom[ad][0];

        *m2 = eeprom[ad][1];

#ifdef SEMA

        sc_spost(sid,&err);

#endif

}

#define LECTURE 1

#define ECRITURE 2

struct msg

{

     char mode;   /* LECTURE/ECRITURE */

     int ad;

     long v1;

     long v2;

};

void user_main()

{

   void  task11(),  task12(),  task13(),  task14(),  task15();

   int   err;

   long ad;

   err =0;

   sc_tcreate(task11,1,10,&err);

   sc_tcreate(task12,2,10,&err);

   sc_tcreate(task13,3,5,&err);

   sc_tslice(1);

   sc_qcreate(qid,5,&err);

   for(ad=0;ad<LN_EEPROM;ad++)

   {    

        eeprom[ad][0] = 0;

        eeprom[ad][1] = 0;

   }

}

/*************************************************************************/

/* task11                                                                */

/*************************************************************************/

void task11()

{  struct msg m;

   int ad;

   long v;

   int err,nb;

   m.mode = ECRITURE;

   for(nb=0;nb<100;nb++)

   {    for(v=0;v<16;v++)

        {       for(ad=0;ad<LN_EEPROM;ad++)

                {      m.ad = ad;

                       m.v1 = v;

                       m.v2 = v;

                       sc_qpost(qid,(char *)(&m),&err);

                }

        }

   }

   dsp_dos_return(0) ;

}

/*************************************************************************/

/* task12                                                                */

/*************************************************************************/

void task12()

{

   int   i;

   int err;

   long v1,v2;

   struct msg m;

   m.mode = LECTURE;

   for(;;)

   {   

        for(i=0;i<LN_EEPROM;i++)

        {   

                m.ad = i;

                sc_qpost(qid,(char *)(&m),&err);

                if(m.v1!=m.v2)

                {

                        sc_putc(m.v1+'A');

                        sc_putc(m.v2+'A');

                }

        }

   }

}

/*************************************************************************/

/* task13                                                                */

/*************************************************************************/

void task13()

{

   int   i;

   int err;

   long v1,v2;

   struct msg *m;

   for(;;)

   {   

        m = (struct msg *)sc_qpend(qid,0,&err);

        switch(m->mode)

        {

                case LECTURE :

                        leceeprom(m->ad, &v1,&v2);

                        m->v1 = v1;

                        m->v2 = v2;

                        break;

                case ECRITURE:

                        ecreeprom(m->ad,m->v1,m->v2);

                        break;

        }

   }

}

AVEC SEMAPHORE

/***************************************************************************

        EXERCICE 1

**************************************************************************/

#include "cmpnents.h"

#include "vrtxil.h"

#define  TERMINATE   "\n\nDemonstration was terminated\n"

#define LN_EEPROM 16

long eeprom[LN_EEPROM][2];

int sid;

#define NOSEMA

void ecreeprom(int ad,long m1, long m2)

{

#ifdef SEMA

        int err;

        sc_spend(sid,0,&err);

#endif

        eeprom[ad][0] = m1;

        eeprom[ad][1] = m2;

#ifdef SEMA

        sc_spost(sid,&err);

#endif

}

void leceeprom(int ad,long *m1, long *m2)

{

#ifdef SEMA

        int err;

        sc_spend(sid,0,&err);

#endif

        *m1 = eeprom[ad][0];

        *m2 = eeprom[ad][1];

#ifdef SEMA

        sc_spost(sid,&err);

#endif

}

void user_main()

{

   void  task11(),  task12(),  task13(),  task14(),  task15();

   int   err;

   long ad;

   err =0;

   sc_tcreate(task11,1,10,&err);

   sc_tcreate(task12,2,10,&err);

   sc_tslice(1);

   sid = sc_screate(1,0,&err);

   for(ad=0;ad<LN_EEPROM;ad++)

   {    

        eeprom[ad][0] = 0;

        eeprom[ad][1] = 0;

   }

}

/*************************************************************************/

/* task11                                                                */

/*************************************************************************/

void task11()

{

   long ad,v;

   int err,nb;

   for(nb=0;nb<1000;nb++)

   {    for(v=0;v<16;v++)

        {       for(ad=0;ad<LN_EEPROM;ad++)

                {    ecreeprom(ad, v, v);

                }

        }

   }

   dsp_dos_return(0) ;

}

/*************************************************************************/

/* task12                                                                */

/*************************************************************************/

void task12()

{

   int   i;

   int err;

   long v1,v2;

   for(;;)

   {   

        for(i=0;i<LN_EEPROM;i++)

        {   

                leceeprom(i,&v1,&v2);

                if(v1!=v2)

                {

                        sc_putc(v1+'A');

                        sc_putc(v2+'A');

                }

        }

   }

}
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